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D 2:7=4:14 @ 2:4=7:14

@ 4:14=2:7 ®7:14=2:4

B

@4:7:2:14

2 4
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—2:7=4:14>57:14=2:4
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D 1x1x3.14x 2.5 =7.85(cm?)

@ 2.5%x2.5x3.14 x 3 = 58.875(cm?)
® 2x2x3.14 x4 = 50.24(cm?)

@ 2x2x3.14x3.5 = 43.96( cm?)
®1x1x3.14x5=15.7(cm?)




A E0] 4cm ©|, =0]7F4em Q) Q7%
gtz 5] 4cm ©]al, =017t 5em 1 Y71F

g BEA 7L 7em 1 HSHA

24 ol7F 216 cm? Q1 F-=HA|

@
@
®
@
@%‘“591 @57} 15.7cm ©] 11,

Hir

o]7} 6em ¢l Y75

@D 4x4x3.14 x4 = 200.96( cm?)

@ 4x4x3.14x5=251.2(cm?)

® 7xTxT7=2343(cm?)

@ 3t mAE] o] ZdolE | Jem 2} shd

[ Ix[ Jx6=216,[ ]x[ |=36,[ |]=6

b Hulls 6 x 6 x 6 = 216( cm?) YUt}

® @Hol ¥tz 50] 15.7 + 3.14 + 2 = 2.5(cm)

ojB® Hul= 25x25x3.14 x 6 = 117.75( cm?) Y},




8. TEF Ruz AR A PAEFL o AU

@® AF°] 4cm ©]1L, E=°]7t 6cm Q1 ¥71E
@ ®BF21E°] 3em ©], =17k 3em Q1 Y715
® g 2AZ7t6cm S HSHA
@)zt seem? A BT

® WHO Y57 314cm ©]1, =0]7F3cm ¢ 975

~&B

@D 2x2x3.14%x 6 = 75.36( cm?)
@ 3x3x3.14x 3 =84.78(cm?)
® 6x6x6=216(cm?)

@ 3t mAE] o] ZolE | Jem 2} bW

[ Ix[ Ix6=54] |x[ =9 ]=3

b Huls 3 x 3 x 3 = 27(em®) @Y th

® @Ho gtz 50] 31.4 + 3.14 + 2 = 5(cm)

o|lB 2 Hull 5x5x3.14 x 3 = 235.5( cm®) YU Tt
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11.

O 80:126 @ 126: 82 @41 : 63

@ 18:26 ® 126: 118

~&B

@x(1 + 0.26) = @x(1 - 0.18)
@Px1.26 =@x0.82

@):& = 0.82:1.26

@):@ = 82:126 = 41 : 63
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80,0718 T8st 20l 94 ATk AR R ol
2

3 el @91 Ut @9 Hol7 72em? oW, @ho] Wol=

@
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cm? YY7F?
@
@ 30cm? @ 52cm? ® 9cm?
@ 54.6cm? ®)64.8 cm?
Az]B8 - 3
(u;ﬂ—r—c)Z@Xg
=T72% —
X 5
= 43.2(cm?)
AxBEB 2
(uﬁ-r-u:)—@xg
2
43.2 =7X—=
b<3
2
=432+ =
& 3
@)= 43.2 x =




